Solving Systems of Equations Graphically

Intersecting Lines Parallel Lines
One Solution No Solution
Consistent Inconsistent
Independent

Step 1: Rewrite each equation in slope-intercept form.
Step 2: Graph the lines and find the intersection point.
Step 3: Check your answer.

Directions: Solve each system of equations graphically.

1. x+y=4
X—y=2
Xry =Y A=-N<=d
-¥ L =X -X k o

-y= X*2

Coinciding Lines
Infinite Solutions
Consistent
Dependent

y= XYy

-1 -] -]
"—: W Y= X -2 _
—\
brlod) T m=im EE oy
\ ) ’““t‘_‘j‘ 3-1=
b= (0~ Y7




2. 2x-3y=4
X+4y=-9

xQA-Iy= A rly=-9
B A T A

jg=-lx+5_ HN=ox-9,

- -3 3 B 4 4
- ==Lx-

*/-._%x-g— \I ._‘X 9\-:
--L 1)

R

Vo 2 Y=~
= orniowka)
™mm=3 ™
2 =) N'\':O
b-: (0\6\ _a.=2-x
Y
-3.= Ax
Yy =
IXx= -4y

~\ /
-®
l‘;\‘ -

B ( /

7 -\\’
chreclK xavysz -9

Aax-3y=M -1 #(-D=-1

1("” - 3(—2]:‘-\ -{=-9= -9

-2+lz
w=y ==V

X= Y]y



3.1
4. Sy="x-3
2773

2x-3y=-6
2Nt - Y
'% Hl 3% 2

-3y =-L
- X -AX
3y=-2x-L
-~ = -3

e

//?

NG So\uleu
¢ aNS 1S it

/
i

DRz sa\whows
consySient




